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[bookmark: _GoBack]Introduction
To finalize the sTTI WI RAN2 needs to finalize the MAC CR for this WI and it needs to be decided how sTTI should be modelled in MAC.
[bookmark: _Ref178064866]Discussion
In the MAC specification it is saying in many places that the UE shall take some action "for each TTI". This has worked fine so far in LTE since there is only one TTI starting/ongoing at any point in time, however with sTTI the UE may have one long and one short TTI starting at the same time. It is then unclear what it means that the UE shall do something "for each TTI"; should the UE do the actions once for the long TTI and once for the short TTI? Or should the UE do the actions only once (common for both the long and the short TTI)?
In case the UE would perform the actions once per TTI there may be some problems occuring since the UE may do actions two times at one time instance, which may make counters to be increased two times, and we may get problems with states in the MAC entity, etc., so probably that is not a good way to go. RAN2 needs to decide on how to model this so we propose:
[bookmark: _Toc494404095]RAN2 should discuss and agree on how sTTI is modelled and whether the UE performs actions once for long TT and once for sTTI, or only perform the actions one time (common for the short and long TTI).
Conclusion
Based on the discussion in section 2 we propose the following:
Proposal 1	RAN2 should discuss and agree on how sTTI is modelled and whether the UE performs actions once for long TT and once for sTTI, or only perform the actions one time (common for the short and long TTI).
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